Sr Questions Answers Choice

A, ol sl aas
- . . e - B 4 > B. : BL‘:‘
1 o6 ) Jahat S S S s (e 3lel)) (5 pedS C.aazd

L O dblae

2 e M i (S S

by

3 LS ad 1S glall g S & jler 5% s ) e

4 1939 LS pSaiian € S alusa (e sy (10,

BEYDY GJ\S e
B} 5L3u QJ\S vy
-NEYEPINERY

RS iy £

1910
1911
1912
1913

5 L3S iy e 5 S 1S slafla 3 3 olielais

6 S 2y K 1S EundlS 1y ity IS sl 5 0 o sillae 3 sinlac o

e 2l S
e s
e (il

e skl

7 23 15 D) AL 1S Bl ol L8 T S 1940 gk,

1927
1928
1929
1930

8 Lol Al adad 5 JUE Sk,

Al
i sy
A5
Sy

9 165 s Sy Wl it ol e (JSly

1934
1936
1938
1940

10 W& U e KIS i,

DOU> UOWr UOWP» DOU> UOWP» UOUP» DOWE U0W» DOWH O



